
Wheel bend

System FS, FL, FM, FK, FH

Content

Conveyor system FS  - wheel bend
Conveyor system FL  - wheel bend
Conveyor system FM - wheel bend
Conveyor system FK  - wheel bend
Conveyor system FH  - wheel bend
Product index - index 



FS-Horizontal wheel bend
FSBH 30R150

Item Part No. Description Qty

1 F3902166 Wheel disc 2

2 F3903920 Wheel bend frame 1

3 F3902453 Outer bend 1

4 FSCJ 5X140 Connecting strip 2

5 F3901120 Bearing cap 2

6 Locking ring Sga 15 2

7 Bearing 6202-2z Bearing 4

8 M8X8 Screw 10



FS-Horizontal wheel bend
FSBH 45R150

Item Part No. Description Qty

1 F3902166 Wheel disc 2

2 F3903921 Wheel bend frame 1

3 F3902454 Outer bend 1

4 FSCJ 5X140 Connecting strip 2

5 F3901120 Bearing cap 2

6 Locking ring Sga 15 2

7 Bearing 6202-2z Bearing 4

8 M8X8 Screw 10



FS-Horizontal wheel bend
FSBH 60R150

Item Part No. Description Qty

1 F3902166 Wheel disc 2

2 For FSBH 60R150 Wheel bend frame 1

3 FSBE 60R150 Outer bend 1

4 FSCJ 5X140 Connecting strip 2

5 F3901120 Bearing cap 2

6 Locking ring Sga 15 2

7 Bearing 6202-2z Bearing 4

8 M8X8 Screw 10



FS-Horizontal wheel bend
FSBH 90R150

Item Part No. Description Qty

1 F3902166 Wheel disc 2

2 F3903923 Wheel bend frame 1

3 F3902456 Outer bend 1

4 FSCJ 5X140 Connecting strip 2

5 F3901120 Bearing cap 2

6 Locking ring Sga 15 2

7 Bearing 6202-2z Bearing 4

8 M8X8 Screw 10



FS-Horizontal wheel bend
FSBH 120R150

Item Part No. Description Qty

1 F3902166 Wheel disc 2

2 For FSBH 120R150 Wheel bend frame 1

3 FSBE 120R150 Outer bend 1

4 FSCJ 5X140 Connecting strip 2

5 F3901120 Bearing cap 2

6 Locking ring Sga 15 2

7 Bearing 6202-2z Bearing 4

8 M8X8 Screw 10



FS-Horizontal wheel bend
FSBH 180R150

Item Part No. Description Qty

1 F3902166 Wheel disc 2

2 F3903924 Wheel bend frame 1

3 F3902457 Outer bend 1

4 FSCJ 5X140 Connecting strip 2

5 F3901120 Bearing cap 2

6 Locking ring Sga 15 2

7 Bearing 6202-2z Bearing 4

8 M8X8 Screw 10



FS-Horizontal wheel bend
FSBH 210R150

Item Part No. Description Qty

1 F3902166 Wheel disc 2

2 For FSBH 210R150 Wheel bend frame 1

3 FSBE 210R150 Outer bend 1

4 FSCJ 5X140 Connecting strip 2

5 F3901120 Bearing cap 2

6 Locking ring Sga 15 2

7 Bearing 6202-2z Bearing 4

8 M8X8 Screw 10



FL-Horizontal wheel bend
FLBH 30R150

Item Part No. Description Qty

1 F3902166 Wheel disc 2

2 F3902152-FL Wheel bend frame 1

3 F3902142 Outer bend 1

4 FLCJ 6X140 Connecting strip 2

5 F3901120 Bearing cap 2

6 Locking ring Sga 15 2

7 Bearing 6202-2z Bearing 4

8 M8X8 Screw 10



FL-Horizontal wheel bend
FLBH 45R150

Item Part No. Description Qty

1 F3902166 Wheel disc 2

2 F3902153-FL Wheel bend frame 1

3 F3902141 Outer bend 1

4 FLCJ 6X140 Connecting strip 2

5 F3901120 Bearing cap 2

6 Locking ring Sga 15 2

7 Bearing 6202-2z Bearing 4

8 M8X8 Screw 10



FL-Horizontal wheel bend
FLBH 60R150

Item Part No. Description Qty

1 F3902166 Wheel disc 2

2 For FLBH 60R150 Wheel bend frame 1

3 FLBE 60R150 Outer bend 1

4 FLCJ 6X140 Connecting strip 2

5 F3901120 Bearing cap 2

6 Locking ring Sga 15 2

7 Bearing 6202-2z Bearing 4

8 M8X8 Screw 10



FL-Horizontal wheel bend
FLBH 90R150

Item Part No. Description Qty

1 F3902166 Wheel disc 2

2 F3902155-FL Wheel bend frame 1

3 F3902010 Outer bend 1

4 FLCJ 6X140 Connecting strip 2

5 F3901120 Bearing cap 2

6 Locking ring Sga 15 2

7 Bearing 6202-2z Bearing 4

8 M8X8 Screw 10



FL-Horizontal wheel bend
FLBH 120R150

Item Part No. Description Qty

1 F3902166 Wheel disc 2

2 For FLBH 120R150 Wheel bend frame 1

3 FLBE 120R150 Outer bend 1

4 FLCJ 6X140 Connecting strip 2

5 F3901120 Bearing cap 2

6 Locking ring Sga 15 2

7 Bearing 6202-2z Bearing 4

8 M8X8 Screw 10



FL-Horizontal wheel bend
FLBH 180R150

Item Part No. Description Qty

1 F3902166 Wheel disc 2

2 F3902156-FL Wheel bend frame 1

3 F3902014 Outer bend 1

4 FLCJ 6X140 Connecting strip 2

5 F3901120 Bearing cap 2

6 Locking ring Sga 15 2

7 Bearing 6202-2z Bearing 4

8 M8X8 Screw 10



FL-Horizontal wheel bend
FLBH 210R150

Item Part No. Description Qty

1 F3902166 Wheel disc 2

2 For FLBH 210R150 Wheel bend frame 1

3 FLBE 210R150 Outer bend 1

4 FLCJ 6X140 Connecting strip 2

5 F3901120 Bearing cap 2

6 Locking ring Sga 15 2

7 Bearing 6202-2z Bearing 4

8 M8X8 Screw 10



FM-Horizontal wheel bend
FMBH 30R160

 

Item Part No. Description Qty

1 F3902166 Wheel disc 2

2 F3902152-FM Wheel bend frame 1

3 F3902850 Outer bend 1

4 FLCJ 6X140 Connecting strip 2

5 F3901120 Bearing cap 2

6 Locking ring Sga15 2

7 Bearing 6202-2z Bearing 4

8 M8X8 Screw 10



FM-Horizontal wheel bend
FMBH 45R160

Item Part No. Description Qty

1 F3902166 Wheel disc 2

2 F3902153-FM Wheel bend frame 1

3 F3902852 Outer bend 1

4 FLCJ 6X140 Connecting strip 2

5 F3901120 Bearing cap 2

6 Locking ring Sga 15 2

7 Bearing 6202-2z Bearing 4

8 M8X8 Screw 10



FM-Horizontal wheel bend
FMBH 60R160

Item Part No. Description Qty

1 F3902166 Wheel disc 2

2 For FMBH 60R160 Wheel bend frame 1

3 FMBH 60R160 Outer bend 1

4 FLCJ 6X140 Connecting strip 2

5 F3901120 Bearing cap 2

6 Locking ring Sga 15 2

7 Bearing 6202-2z Bearing 4

8 M8X8 Screw 10



FM-Horizontal wheel bend
FMBH 90R160

Item Part No. Description Qty

1 F3902166 Wheel disc 2

2 F3902155-FM Wheel bend frame 1

3 F3902856 Outer bend 1

4 FLCJ 6X140 Connecting strip 2

5 F3901120 Bearing cap 2

6 Locking ring Sga 15 2

7 Bearing 6202-2z Bearing 4

8 M8X8 Screw 10



FM-Horizontal wheel bend
FMBH 120R160

Item Part No. Description Qty

1 F3902166 Wheel disc 2

2 For FMBH 120R160 Wheel bend frame 1

3 FMBE 120R160 Outer bend 1

4 FLCJ 6X140 Connecting strip 2

5 F3901120 Bearing cap 2

6 Locking ring Sga 15 2

7 Bearing 6202-2z Bearing 4

8 M8X8 Screw 10



FM-Horizontal wheel bend
FMBH 180R160

Item Part No. Description Qty

1 F3902166 Wheel disc 2

2 F3902156-FM Wheel bend frame 1

3 F3902858 Outer bend 1

4 FLCJ 6X140 Connecting strip 2

5 F3901120 Bearing cap 2

6 Locking ring Sga 15 2

7 Bearing 6202-2z Bearing 4

8 M8X8 Screw 10



FM-Horizontal wheel bend
FMBH 210R160

Item Part No. Description Qty

1 F3902166 Wheel disc 2

2 For FMBH 210R160 Wheel bend frame 1

3 FMBE 210R160 Outer bend 1

4 FLCJ 6X140 Connecting strip 2

5 F3901120 Bearing cap 2

6 Locking ring Sga 15 2

7 Bearing 6202-2z Bearing 4

8 M8X8 Screw 10



FK-Horizontal wheel bend
FKBH 30R200

Item Part No. Description Qty  

1 F3924966 Wheel disc 2

2 F3924968 Wheel bend frame 2

3 FK Shaft Wheel shaft 1

4 Brackets 4

5 FLCJ 6X160 Connecting strip 2

6 Brackets 2

7 FKBE 30R200 Outer bend 1

8 Bearing 3205A Bearing 2

9 Retaining ring Sga 25 2

10 F5058559 Adapter kit 2

11 F3901120 Wheel Cover 2

12 M8x25 Screw 4

13 M8 Nut Nut 8

14 M8X16 Screw 4

15 M8X45 Screw 4
16 ST3.5-1.3 Screw 8



FK-Horizontal wheel bend
FKBH 45R200

Item Part No. Description Qty  

1 F3924966 Wheel disc 2

2 F3924968 Wheel bend frame 2

3 FK Shaft Wheel shaft 1

4 Brackets 4

5 FLCJ 6X160 Connecting strip 2

6 Brackets 2

7 FKBE 45R200 Outer bend 1

8 Bearing 3205A Bearing 2

9 Retaining ring Sga 25 2

10 F5058559 Adapter kit 2

11 F3901120 Wheel Cover 2

12 M8x25 Screw 4

13 M8 Nut Nut 8

14 M8X16 Screw 4

15 M8X45 Screw 4
16 ST3.5-1.3 Screw 8



FK-Horizontal wheel bend
FKBH 90R200

Item Part No. Description Qty  

1 F3924966 Wheel disc 2

2 F3924968 Wheel bend frame 2

3 FK Shaft Wheel shaft 1

4 Brackets 4

5 FLCJ 6X160 Connecting strip 2

6 Brackets 2

7 FKBE 90R200 Outer bend 1

8 Bearing 3205A Bearing 2

9 Retaining ring Sga 25 2

10 F5058559 Adapter kit 2

11 F3901120 Wheel Cover 2

12 M8x25 Screw 4

13 M8 Nut Nut 8

14 M8X16 Screw 4

15 M8X45 Screw 4

16 ST3.5-1.3 Screw 8



FK-Horizontal wheel bend
FKBH 180R200

Item Part No. Description Qty  
1 F3924966 Wheel disc 2

2 F3924968 Wheel bend frame 2

3 FK Shaft Wheel shaft 1

4 Brackets 4

5 FLCJ 6X160 Connecting strip 2

6 Brackets 2

7 FKBE 180R200 Outer bend 1

8 Bearing 3205A Bearing 2

9 Retaining ring Sga 25 2

10 F5058559 Adapter kit 2

11 F3901120 Wheel Cover 2

12 M8x25 Screw 4

13 M8 Nut Nut 8

14 M8X16 Screw 4

15 M8X45 Screw 4

16 ST3.5-1.3 Screw 8



FH-Horizontal wheel bend
FHBH 30R170

Item Part No. Description Qty

1 F3902166 Wheel disc 2

2 F3902152-FH Wheel bend frame 1

3 F3902621 Outer bend 1

4 FLCJ 6X140 Connecting strip 2

5 F3901120 Bearing cap 2

6 Locking ring Sga 15 2

7 Bearing 6202-2z Bearing 4

8 M8X8 Screw 10



FH-Horizontal wheel bend
FHBH 45R170

Item Part No. Description Qty

1 F3902166 Wheel disc 2

2 F3902153-FH Wheel bend frame 1

3 F3902620 Outer bend 1

4 FLCJ 6X140 Connecting strip 2

5 F3901120 Bearing cap 2

6 Locking ring Sga 15 2

7 Bearing 6202-2z Bearing 4

8 M8X8 Screw 10



FH-Horizontal wheel bend
FHBH 60R170

Item Part No. Description Qty

1 F3902166 Wheel disc 2

2 For FHBH 60R170 Wheel bend frame 1

3 FHBE 60R170 Outer bend 1

4 FLCJ 6X140 Connecting strip 2

5 F3901120 Bearing cap 2

6 Locking ring Sga 15 2

7 Bearing 6202-2z Bearing 4

8 M8X8 Screw 10



FH-Horizontal wheel bend
FHBH 90R170

Item Part No. Description Qty

1 F3902166 Wheel disc 2

2 F3902155-FH Wheel bend frame 1

3 F3902619 Outer bend 1

4 FLCJ 6X140 Connecting strip 2

5 F3901120 Bearing cap 2

6 Locking ring Sga 15 2

7 Bearing 6202-2z Bearing 4

8 M8X8 Screw 10



FH-Horizontal wheel bend
FHBH 120R170

Item Part No. Description Qty

1 F3902166 Wheel disc 2

2 For FHBH 120R170 Wheel bend frame 1

3 FHBE 120R170 Outer bend 1

4 FLCJ 6X140 Connecting strip 2

5 F3901120 Bearing cap 2

6 Locking ring Sga 15 2

7 Bearing 6202-2z Bearing 4

8 M8X8 Screw 10



FH-Horizontal wheel bend
FHBH 180R170

Item Part No. Description Qty

1 F3902166 Wheel disc 2

2 F3902156-FH Wheel bend frame 1

3 F3902618 Outer bend 1

4 FLCJ 6X140 Connecting strip 2

5 F3901120 Bearing cap 2

6 Locking ring Sga 15 2

7 Bearing 6202-2z Bearing 4

8 M8X8 Screw 10



FH-Horizontal wheel bend
FHBH 210R170

Item Part No. Description Qty

1 F3902166 Wheel disc 2

2 For FHBH 210R170 Wheel bend frame 1

3 FHBE 210R170 Outer bend 1

4 FLCJ 6X140 Connecting strip 2

5 F3901120 Bearing cap 2

6 Locking ring Sga 15 2

7 Bearing 6202-2z Bearing 4

8 M8X8 Screw 10



type

FSBH 30R150

FSBH 45R150

FSBH 60R150

FSBH 90R150

FSBH 120R150

FSBH 180R150

FSBH 210R150

FLBH 30R150

FLBH 45R150

FLBH 60R150

FLBH 90R150

FLBH 120R150

FLBH 180R150

FLBH 210R150

FMBH 30R160

FMBH 45R160

FMBH 60R160

FMBH 90R160

FMBH 120R160

FMBH 180R160

FMBH 210R160

FKBH 30R200

FKBH 45R200

FKBH 90R200

FKBH 180R200

FHBH 30R170

FHBH 45R170

FHBH 60R170

FHBH 90R170

FHBH 120R170

FHBH 180R170

FHBH 210R170

Index


	FSBH 30R150
	FSBH 45R150.pdf
	FSBH 45R150

	FSBH 60R150.pdf
	FSBH 60R150

	FSBH 90R150.pdf
	FSBH 90R150

	FSBH 120R150.pdf
	FSBH 120R150

	FSBH 180R150.pdf
	FSBH 180R150

	FSBH 210R150.pdf
	FSBH 21R150

	FLBH 30R150.pdf
	FLBH 30R150

	FLBH 45R150.pdf
	FLBH 45R150

	FLBH 60R150.pdf
	FLBH 60R150

	FLBH 90R150.pdf
	FLBH 90R150

	FLBH 120R150.pdf
	FLBH 120R150

	FLBH 180R150.pdf
	FLBH 180R150

	FLBH 210R150.pdf
	FLBH 210R150

	FMBH 30R160.pdf
	FMBH 30R160

	FMBH 45R160.pdf
	FMBH 45R160

	FMBH 60R160.pdf
	FMBH 60R160

	FMBH 90R160.pdf
	FMBH 90R160

	FMBH 120R160.pdf
	FMBH 120R160

	FMBH 180R160.pdf
	FMBH 180R160

	FMBH 210R160.pdf
	FMBH 210R160

	FHBH 30R170.pdf
	FHBH 30R170

	FHBH 45R170.pdf
	FHBH 45R170

	FHBH 60R170.pdf
	FHBH 60R170

	FHBH 90R170.pdf
	FHBH 90R170

	FHBH 120R170.pdf
	FHBH 120R170

	FHBH 180R170.pdf
	FHBH 180R170

	FHBH 210R170.pdf
	FHBH 210R170

	FKBH 30R200.pdf
	FKBH 30R200

	FKBH 45R200.pdf
	FKBH 45R200

	FKBH 90R200.pdf
	FKBH 90R200

	FKBH 180R200.pdf
	FKBH 180R200

	wheel bend.pdf
	Index-頁碼-大

	wheel bend index.pdf
	index

	wheel.pdf
	Index-頁碼-大


	Button1: 


